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'COMPLETE [\Jl:Y¥ 3 & COURSE (For all govt. exz sy ADITYA RANJAN SIR

The digit in unit's place of the product
fr=fafead THwa &1 IHE AE TG HU

49237 x 399@3@% 83 x 9 is :
O
NO &

(b) 7
(c) 6
(d) 8
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'COMPLETE [\Jl:Y¥ 3 & COURSE (For all govt. exz sy ADITYA RANJAN SIR

The unit digit in 3 x 38 x 537 x 1256 1s :

wxs37><125 &1 THE 3AF FTd H
%j

q
\/ (a) 4
(b) 2

G (c) 6
NC

Download RG VIKRAMJEET application for complete course.



'COMPLETE [\Jl:Y¥ 3 & COURSE (For all govt. exz sy ADITYA RANJAN SIR

x 89 18
83 X ......... x 80 & ITHE
Nay 0
(b) 2
(c) 6
(d) 8

Download RG VIKRAMJEET application for complete course.



'COMPLETE [\Jl:Y¥ 3 & COURSE (For all govt. exz sy ADITYA RANJAN SIR

31;)(’\)( XI3X1TIX\4 = — Find the unit digit of the product of all the
&j S)SJ odd prime number.
S S wr
a9l fauq A9 el & UAEA H 3hls S
T hifSIy]
SXany odd no = S @ 0O
(b) 1
(c) 2
dy S5

Download RG VIKRAMJEET application for complete course.



'COMPLETE [\Jl:Y¥ 3 & COURSE (For all govt. exz sy ADITYA RANJAN SIR
pYime - [evehno— 2

Find the unit digit of the product of all the
¥est odd - prime number.

gt A9 HEAS & UHEERA I IR 3k A

Qaxgrax - T G 0

Q (b) 1
SX any even ng. = (c) 2
(d) S

Download RG VIKRAMJEET application for complete course.



'COMPLETE [\Jl:Y¥ 3 & COURSE (For all govt. exz sy ADITYA RANJAN SIR

The digit in unit place of the number
gfoTdt T@ § IHE 3 A hl
(1570)° + (1571)* + (1572)* + (1573)* 1s :

O+Ll+a+q @) 1

(b) 2

Download RG VIKRAMJEET application for complete course.




'COMPLETE [\Jl:Y¥ 3 & COURSE (For all govt. exz sy ADITYA RANJAN SIR

The units digit of the expression
it 9@ § T A% A i
256251 + 36528 + 78Dis :

S +6 +23% (@) 6
l-fq_:Q :E))i
N O

Download RG VIKRAMJEET application for complete course.



'COMPLETE [\Jl:Y¥ 3 & COURSE (For all govt. ex: sy ADITYA RANJAN SIR
Find the units digit of 43".
4346 T TH1E 3Tk AT B
c (a) 7

U 9
(c) O
(d) 6

Download RG VIKRAMJEET application for complete course.



'COMPLETE [\Jl:Y¥ 3 & COURSE (For all govt. exz sy ADITYA RANJAN SIR

Find the units digit of 43%- 2828,
43% — 2828 ] THE 37k A Bl

NV 3% 8% NGB!
4 X 4 - 1-6 (b) 2
\é © 3

(d) 4

Download RG VIKRAMJEET application for complete course.










'COMPLETE [\Jl:Y¥ 3 & COURSE (For all govt. exz sy ADITYA RANJAN SIR

M- @ Find the last digit of 39kJ" .
3032 &1 AfAH 3Tk Fd hHifSIq|

(@) 2
(b) 4

Ny 6
(d) 8

Download RG VIKRAMJEET application for complete course.







Let x = (633)% — (277)% + (266)> what is the
unit digit of x? -
afg x = (633)% — (277)%® + (266)* T, T x &
THTE 3iF N B

SSC CGL Tier II, 11 September 2019
@7 37%c (b 6 '
cy4 1-%4¢ (d) 8



If x=(164)"" + (333)*" — (727)"*° what is the
unit digit of x?
AR x = (164)'? + (333)%7 — (727)72°%, @ x F

SSC CGL Tier II, 11 September 2019

44+ _
o (2) 5
h q = (b) 7

\(¢] 8

(d) 9



'COMPLETE [\Jl:Y¥ 3 & COURSE (For all govt. exz sy ADITYA RANJAN SIR

The digit in the unit's place of

[(251) + (21)?° - (106)'° + (705)* — 16" + 259] is
[(251)% + (21)* - (106)*° + (705)* — 16" + 259] =
THTE TIF HT 3F ©

\ 1
—._‘t'-:-"G—i- -6+c3 \giy)rél.
b-12 2 y (©) 5

(d) 6

Download RG VIKRAMJEET application for complete course.




'COMPLETE [\Jl:Y¥ 3 & COURSE (For all govt. exz sy ADITYA RANJAN SIR

The unit digit in the product
gt G | T 3iF F1d
771 X 663 % 365 iS :

-lo’XG)( ql (a) 1
= 3)((33( (b) 2
\/j (c) 3
o4 U 4

Download RG VIKRAMJEET application for complete course.




'COMPLETE [\Jl:Y¥ 3 & COURSE (For all govt. exz sy ADITYA RANJAN SIR

Find the unit digit in the product

gftomdt @ § g 3AF A H

(4387)*E x (621)"~.

(@) 1

(b) 2

(c) S
7

17X L

Download RG VIKRAMJEET application for complete course.




'COMPLETE [\Jl:Y¥ 3 & COURSE (For all govt. exz sy ADITYA RANJAN SIR

The digit in the unit's place of the product
(2464)1793 X (615)317 X (131)491 is -
(2464)'7 x (615)%7 x (131)*' & THIE TUF
Hqh T :
(@) O
(b) 2

(c) 3
(d) 5

Download RG VIKRAMJEET application for complete course.






'COMPLETE [\Jl:Y¥ 3 & COURSE (For all govt. ex: sy ADITYA RANJAN SIR

The last digit (1001)%°°® + 1002 is :
(1001)2°°% + 1002 &1 3ifaq 1% 2 :

Download RG VIKRAMJEET application for complete course.




MATHS DURSE (For all govt. ex sy ADITYA RANJAN SIR

|+ U+ Q+6*G 6t qt ”7"'0 Find the last digit of the expression
\/ \)Q = =5 1 3AfdH 37 A1 HifSQ|

@Xlo = 0 | o i o T + 100°.
N(n+)(2n+) :ﬁ%m Jday 0
. > (b) 1
- 0 (c) 3
(d) S

Download RG VIKRAMJEET application for complete course.




'COMPLETE [\Jl:Y¥ 3 & COURSE (For all govt. exz sy ADITYA RANJAN SIR

,n("“g(zm') Find the last digit of the expression
TR f=fafed saser o1 3ifae 21 F[d ShifSg
STXATA G |12 # 2 % crvvmnsms + 322+ 332,
e -
86 7 ‘?3 (@) O
1/ ) 2

Download RG VIKRAMJEET application for complete course.



'COMPLETE [\Jl:Y¥ 3 & COURSE (For all govt. exz sy ADITYA RANJAN SIR

Find the unit digit of /3#E 3% F1d &
@+22+3i3+44+55+6()+77+88+9()+

10,

/*7/*7/+6+S+6+ (a) O
_.|..

Arfif+o

%

d) 9

Download RG VIKRAMJEET application for complete course.
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'COMPLETE [\Jl:Y¥ 3 & COURSE (For all govt. exz sy ADITYA RANJAN SIR

The last digit of the following expression is :

frafafea s 1 31faq 3% 319 H
W) +(2 +(3) +(4)' .o (10)°
' 2
(:1)-" (2) +(6)‘5‘|' (‘1)‘(—} O (a) 0

Download RG VIKRAMJEET application for complete course.



'COMPLETE [\Jl:Y¥ 3 & COURSE (For all govt. exz sy ADITYA RANJAN SIR

Find the unit digit of the expression :
frafafad s &1 hie 37 9 L
22902222 | (4444)1" | (8GRR)SB 4 (999Q)*

q
o F'+8%4 g+ @) O
i 6+6+G+_\_

(b) 2
~ 9 (c) 5

Download RG VIKRAMJEET application for complete course.






'COMPLETE [\Jl:Y¥ 3 & COURSE (For all govt. exz sy ADITYA RANJAN SIR

The right most non-zero digits of the number
3R> s :
T 3027207 Wed TU I & ¢

3 - 4 \(Z{ 1
(b) 3
(c) 7
(d) 9

Download RG VIKRAMJEET application for complete course.




‘COMPLETE |\ ):¥¥ s K COURSE (For all gc sy ADITYA RANJAN SIR

Find the unit digit of (1—2—34—567—8@1234567&9

(123456789)123156782 o] Fahlg 37k AT il

(@) 2 (b) 6 (©) 1 (@9

4= 9

e\
e,



'COMPLETE |\/:Y ¥ &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

Find the unit digit of (123456789)!231°56789
(123456789)123156789! R7 FehTe 3k 1A hil

(a) 2 (b) 6 NC@! (d) 9
= q"f



'COMPLETE |\/:Y ¥ &Y COURSE (For all govt. ex: sy ADITYA RANJAN SIR

Find the unit digit of 973%** x 234°",
Q73234 x 234973 /T The 3k FATd Hl
(@) 2 Wy 6 () 7 (d) 9

'3‘4)(4\,‘%
1)(6



e AMATH SER L A R T sy ADITYA RANJAN SIR

Find the unit digit of the expression :

frAfafea s T SR 3iF ATd Hl

11+21+31+4 +, ... +100!.

(a) 1 (b) O (cy'3 (d) 5
\3* é?QH O



e AMATH SER L A R T sy ADITYA RANJAN SIR

frafafea =9 &1 Afda 1w | H

(1) +(2) +(13) +(4) +.eerenen. (110)"
(a) O (b) 5 (c) 7 (d) O

The last digit of the following expressioi 1S :



COMPLETE LU ;V8: &) COURSE (For all govt. exams ) BREUIIACYIEUNEUES LS

1. (‘).L T 2.(2)2 + 9.( 6)6+ 4-(q)q_,.o Find the ur}it digit of ‘fh§ express\.ion ;
AfdfEd s/ &1 RT3 3Tsh A

- 148+ 8+ & 1.(1)" + 2.(2)% + 3.(3)*......... ¥ 101.\((190;!/101!

(@) S (b) 3 (c) O




Note: Followina Connot be +he unit dugit of

0 Pk SW
2,3, 1,8




e AMATH SER L A R T sy ADITYA RANJAN SIR

Which of the following can't be the unit's
digit of a perfect square?

frfafad 5 @ &E-T1 gt o1l &1 3HE AF &
gl Tehdl 872

(a) 4 \(ty/ 3 ©) 9 d) 6
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O AMATH SEGLIES AR et ol BY ADITYA RANJAN SIR |
The unit digit of (137'%)* 1s :
(1371%)% a1 SehTE 3Tk o1 B2
@ 1 Y3 ©) 5 (d) 7




Find the unit digit of the expression :
frAfafeaa a5 &1 s A% I B

2% x 3% x 4% ><>< 7% x 8% 7

(@) 2 )1 A0 (d) 3

SXG
N




If the unit digit of 433 * 456* 43N is (N + 2),
8X N= N+2 then what 1s the value of N?

g 433 * 456* 43N &1 THE &1 37 (N + 2) €,

@ N 1 A 0 872

™ 1 W3  Xs dy/6




